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230195529 [HF = [Z5r 5E AR 125100 [T 189| 273.58|Hk% e H i ANVEE
230195126 |ZFFhy &5 5 E 125100 | L 175 251.77|5% E4 H i AVEE
230195162 [{FM 2t 5E AR 125100 [T 200| 275.26|H*% 4 H i ANVEE
230195631 | EiEdk  [&pr5EE AR 125100 | 165| 241.63|l% JE4 H il AVEE
230195264 |HEs (&R SRR 125100 [T 192| 266.9|H:% 4 H i ANVEE
230195384 [d&kk  |[&5r SE R 125100 | L 170| 253.52|Bt% E4x H i AVEE
230195672  [#hid 2t 5E AR 125100 [T 169| 258.25|Ht% e H ANVEE
230195871 | F/&SF &5 5EH SR 125100 [T 206| 287.42|W% EEEN =K ANPERE
230196692 | r i Sut HE AR 125100 | TR 199] 278.05[Ht% JE4 H il AFE
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230195086 | %k fabr 5B 125100 | THEH 177 254.67[H% A4 H il AVEE
230195766  |#tdE 2vt 5E A 125100 | LriEH 179 253.17[B% 3E4 H ] AR
230196797 {4l & HE YR 125100 | LpifEs 171  251.1[B% JE 4 H il AFE
230194778 |HiWIT: |4 PF S BN 125100 [T 186| 269.37[Ht% JE4 H ] AFE
230197026 |k Zvt 5EE 125100 | L 196] 286.67[H% EEEET] T
230197740 |Frii 2ut H5E 125100 [T 165 250.34[H% JE4 H ] AVEE
230198301 |H IR (@B HE AR 125100 | L 181 265.25[1H% EEEET] T
230195508 |F 3L Zout B AR 125100 [T 220[ 310.06|H% JE4 H il AVEE
230197774  |XI1fiE (&b SE AR 125100 | LRiEH 196 279.45[H% AE 4 H il AVEE
230196931 | EwiE  |&F HE PN 125100 [LriEH 179]  255.1[8% A4 H il APE
230195527 |5 |4t BE R 125100 | LRiEH 177] 261.09[Hc% JE4 H e
230196991 |ik§ 2ut 5E 125100 | T g s 198 282.96[Ht% JE 4 H il AVEE
230198929 |EiRHN  |ZPr 5E B SN 125100 | L 178 259.44|F% EEZNEET] R
230196633 | *IfR Zepr S b 125100 | T 213 297.08HE% B4 H il APEE
230196060 |Z=54 |2 5r 5 AR 125100 [T rise 185| 250.75|HF% EENEE] e
230196143 | FfE¥ 25 5E B 125100 | T e 196] 278.3|Ht% E 4 H il AVEE
230196962 |/l |4 5 B SR 125100 [T riE s 176] 259.04|H% EEENEED AVESE
230195380 |EWHL  |&F 5E K 125100 | LR 169| 259.26(H% A2 H il APEE
230195000 | ###% Zut HE R 125100 | L 196] 281.51[H% JE4x il AVPE
230195582  |XIRZE  |&PFSE B 125100 | THEH 235| 321.59|H% AE 4 H i AVERE
111599262 |Fnk A4S 5E AR 125100 | L 185 259.81[Ht% 4 H il APEE
111799894 |t |4PF S BN N 125100 | THEH 176| 259.75[H% A4 H il APEE
113199359  [&H Sut SR 125100 [T s 192| 268.64|H% ENEL AIEE
120798558 |l |Zeht 5 b 125100 | T/ 187| 271.65[1k% B4 H il AVFE
152197005  |#K38%  |4dr SEH R 125100 | L 182 255.6|H% EEZNEET] R
211899075 [#h¥gor |4 7F G AR 125100 | TR E 204 295|1HK% A4 H il AVEE
221198646 | D¥E  [&iF 5 E AR 125100 |[Tpgiss 204| 281.67|B% A4 H il ANV
221199536 | Ew# &P HEIY 125100 | THEH 193| 279.98[H% A4 H il APEE
230693532 |51 Sut SR 125100 | TR 188] 278.89[Ht% 4 H il AIFE
230694779 |VF2l  |ABr HE AR 125100 | TR 178 259.87[Ht% 44 H ] AVEE
230694173  |%kis A B HE AR 125100 | TpiiEss 175  255.1[H% JE4 H il AVEE
230696999 |MthT  |4br SE R 125100 | TR 191 269.85[H% 44 H ] AVEE
230694977 |#EW) Sut SR 125100 | TR 180] 269.53[Ht% JE4 H il AIFE
230696475 | b |2 5EEYK 125100 | THEH 170| 247.46[H% 3E4 H il AVFEE
230694123 |’RZ%k  |4&Pr SE BN 125100 | TR E 168] 257.73[H% JE4 H il AIFE
230696155 |HuwF (£ 5E YR 125100 |5 204| 287.89|Ht% AE4 H il ANVEIE
231092689 |kEHIFT |4 HE MK 125100 | iR 198] 284.63[Hc% k4= H il APEE
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231096737 [HIEHE (25 S5E R 125100 |TriE# 180| 254.37|B:% 4 H i AVEE
231094115 |Fg2hy (& pr SRR 125100 | 176| 254.83[E:% k4 H ] ANVEE
231096239 | 4Hy 2% 5 A b 125100 | 237| 322.5[|Ec% 4= H i AVEE
231093021 |JH#E (&5 S5EH S 125100 [T i 174 263.46|H*% E4 H il AVEE
231096071 [A/k &5 SE AR 125100 | 166| 251.96|K:% 4 H i AVEE
231094974 [T Hi 207 5 A 125100 [T i 196| 283.42|Ht% E4 H il AVEE
231092511  |™f 2% 5 A b 125100 | 169| 255.73|E:% 4 H i AVEE
231094503  [ZLH)] 207 5 A 125100 | T p5%s 224| 306.59[H% k4 H il ANVEE
231197255 (S HF [&5 S5E R 125100 | 171| 260.64|K:% 4 H i AVEE
231195827 |FsaEl  [&iFHEE AR 125100 | T p5%s 205| 285.01|H% A4 H ANVEE
231195016 |#kF 2% 5 A b 125100 | 191 279.42|B:% 2 Hifil AVEE
231195135 | EFE (&5 5E R 125100 |Tri& B 190| 281.53|Hc% JE4 H AVEE
231296605 |Eifizk  |&r S EE AR 125100 | L ps%& B 221| 311.55[Hc% ENELd ANVEE
231296453 [k — 207 5 2B 125100 | Tps% s 197| 284.79|W% JE4 H il AVEE
231296896 |5k Z F 207 55 5 A 125100 | L psi 3 179| 253.75|H% A4 H ) ANVEE
231295950 |#FT#  [&ir 5 EE AR 125100 | Tps% s 177| 258.3|% JE4 H il AVEE
231297312 |[E# 20t 5 AR 125100 | L ps%& B 190| 274.38|H:% 4 H ANVEE
231297371  |xlE: (&5 5EHE S 125100 |Tri& B 189| 278.26|Hc% JE4 H AVEE
231599664 |THH |45 5E MY 125100 [TriE#H 234| 320.94|H:% EEENEE] ANVFE
231508276 [ #HiftS |4 UFHEEYRE 125100 | T/ 178] 254.31[0t% k4= H il APEE
231596161 | £ (&5 S5E Y 125100 |[Tpgiss 173| 253.74|B% A4 H il ANV
231598547 |iKiH ZEt 5 e B 125100 | T/ 190[ 270.33|Ifk% B4 H il AVFE
231597689 |k &P 5E BN 125100 [T s 195] 276.63[H* JE4 H il AIEE
231596174 | ZEt 5 e L 125100 | T/ 165| 254.38|1k% B4 H il AVFE
321797524 |’kEh  |&Pr 5E BN 125100 [T s 199| 283.83[Ht% ENEL AIEE
350396566 | |& 5EE K 125100 | LR H 171 245.83[H% A4 H il APEE
370170459  |fEfH Sut SR 125100 [T s 168| 254.67[H* JE4 H il AIEE
370986347 |3k 2t 5E 125100 | THEH 168| 240.25[H% A4 H il APEE
440192672 | EME & [&5rHEE R 125100 | L ps/ s 193 267|H% A4 H i) ANVEE
440194909 [#idhEE  |&FSEHESER 125100 | L 180| 260.75|B:% E4 H i AVEE
440193499 |[Frfgfe  [&ir 5 RN 125100 | L p5/ s 176| 255.5[:% A4 H i) ANVEE
440197491 [Brugs  |&UFSE MR 125100 [T 188 266.5[Hc% EEEN =K AVEE
440198499 |#&ihsr A PR 125100 [T 228] 302.65[l% JE4 H il AVEE
440188961 |F i |&IFHE R 125100 | L5 190| 272.74|B% 4 H i TVEE
440199623  |iE3F Zout SR 125100 | TR E 179] 254.01[H% JE4 H il AIFE
440188533 |Ju¥T |4 HEH S 125100 | LHEH 190| 266.42[H% A4 H il APEE
440192731 | £ |25 5E M 125100 | L ps/E s 196| 267.74|8% EENEE ] T
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440195213 [FHHIL  |&FF 5 E SR 125100 |TriE# 192| 276.17|B% 4 H i AVEE
440199295 [i&IE 2 5 A 125100 |Tps& 185| 264.2|H% 4 H AVEE
440198246  [xI%F 20t 5 A b 125100 | 180| 257.08|Ht% 4= H i AVEE
440192289 [HikiG |&F5EHE%NR 125100 [T i 166| 246.59|H % E4 H il AVEE
440196206 [VilEiEE  |&55E SR 125100 | 170| 257.65|H:% 4 H i AVEE
440189383 [fPfEaH & pk 5 AR 125100 | T p5%s 168| 258.32|Wt% E4 H ANVEE
440196580 | 20t 5 AR 125100 | 205| 290.42|Hc% 4 H i AVEE
440196610 |[HRE  |LHFSE N 125100 | T p5%s 169| 247.75|Hc% E4 H ANVEE
440195391 |MAE | FS5EHEYKR 125100 | 179| 274.48|H:% 4 H i AVEE
440192908 |jFHEix [&ur 5EHEAER 125100 | T p5%s 180| 263.08|Ht% A4 H ) ANVEE
440199152 | %1% Zvt S5EH 125100 | LRiEH 165| 253.79[Hc% JE4 H e
440198880 | 2ut 5E 125100 | T g s 165 251.74[8% EENEE R
440189070 | Xl Zevt 5EH 125100 | L 174 262.96[H3% EE R T
440193000 [ 2ut 5E 125100 | T g s 181| 255.24[H% EENEE R
440197256  [xI|E 2% 5 A b 125100 | L psi 3 194| 270.06|B:% 4 H T
440101111 [ Tilgts |4 0F G BB 125100 | TR H 171] 254.02|H% A4 H il AV
440190381 |XIWM  |Z i HEH K 125100 | T it 198| 275.67|H% 4 H AVEE
440191743  [yTHiE 207 5 A 125100 | Tps% s 189| 281.53|HE% JE4 H il AVEE
440198786 [ikiEi % [&vr H5E R 125100 | Lpi% st 208| 282.17|Et% A4 H ) AVEE
440193750 [ EE (&P 5EEER 125100 |TrieEs 165| 241.92|Hc% e H i AVEE
440196202 |EitiE |RFS5EH YK 125100 |Triss 168| 247.72|8% 4 H i AVEE
440198735 |[F@k  |&pr SRR 125100 | L& 199| 276.84 W% JE4 H il AVEE
440195227 2w 20t 5 AR 125100 |Triss 197| 286.68|H:% 4 H i AVEE
440189447 || 20 5 A 125100 |TrieEs 166| 249.08|Hc% e H i AVEE
440198374  [WEitAE  [&Pr SR 125100 | Lpi% s 175| 266.62[#% A4 H i) AVEE
440194461 |7k 20 5 A 125100 |TrieEs 195| 285.41|Hc% e H i AVEE
440191541 [ H 20t 5 AR 125100 |Triss 169| 246.67|H:% 4 H i AVEE
440198481 |73ty [&vF SRR 125100 |TrieEs 189| 277.75|Hc% e H i AVEE
440192010 [XSwElf  [&pk 5 R AR 125100 [T 175| 261.2|E:% e H i AV
440188678 |Bifiak  |&FrSEISER 125100 | L 185 263.72|E#% E4 H i AVEE
440196184 |TXR¥ [&r5EHE 125100 | L p5/ s 184 261.37[:% A4 H i) AVEE
440197056 |3k 20y 5 AR 125100 | L 173| 250.08|Bt% E4 H i AVEE
440195505 [k TE |&F5EE%ER 125100 [T 184| 265.33|Ht% 4 H i AVEE
440191438 |[{E/hiEE |2 S5EHEFR 125100 | L 201| 276.87|WE% JE4= Hifil AVEE
440195842 |BFkEkt |4k R 125100 | T rifs 199 289.41[H:% A4 H i) AVEE
440194972 |[Bu/he |AFFHEIFR 125100 |TLrieEs 221| 306.04|Hc% 4= Hifil ANVEE
440191800 |LEHK |AFE5EHYK 125100 |TriEH 170| 256.7|E% e H AVEE
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440195725 kit |4k S E R 125100 [T s 174 256.08[E:% EENEE] e
440199394 |BHERL AT 5EH K 125100 [T 225 316.42|W% Af 4 H il AVEE
440189483 |[=EHk 2% 5 A b 125100 |[TLpi%#E 168| 261.2|H% EEENEE] TVF5E
440189880 | FTHiHE |25 S AR 125100 [T 173|  249.32[§t% 3E 4 H AFE
440189378 | T & (& 5EH 125100 | L& 186| 265.31|K:% JE4H ] TEE
440199184 | Rk |& T 5EH 125100 [LriEH 172| 252.33[§% A4 H il APE
440189172 |JEHk 2% 5 A b 125100 |[Tpi%#E 168| 248.92|Wk% EEENEE] TVFSE
440194860 |53 Zout B AR 125100 [LriEH 167 248.96(Ht% A4 H il APE
440199117 [T [&yr 5E R 125100 |[Tpi%#E 180 257|B% EEENEE] TVFSE
440188873 | #ild Zout B AR 125100 [T 190| 275.58[Ht% JE4 H il AFE
440193120 |t |Z&br SE SR 125100 | L 170 244.08[H% EEEET] T
440195098 |7 Zor S5E b 125100 |75 i H 219| 306.5|Hk% k4 H il APERE
440191631 | %Vf k= e e 125100 | LpiE e 175| 255.89(Ht% JE4 H il s
440196321  |BWiEsl | 4u S AR 125100 | TRsie L 188| 263.01|Ht% E 4= H il ArE
440197184 | R i N e e O 125100 | TR§EEE 179| 256.74[H% JF 4 H il AvE
440194808  |PRMiA  |40ut S AL 125100 | TRsie L 168| 252.98|Ht% E 4= H il ArE
440199307 | —K |&FHEHYR 125100 | T 208]  299.9|i# JE4 H il AVPE
440196266 | Rk |25 5E 125100 |Trisree 171 258.37[H% A4 H il APEE
440195531 |REM A HE R 125100 [T a 210[ 296.71|Ec% JE4x il AIEE
460298027 |7k 2UF 5E 125100 | LR 173 252.37(t% 44 H il APEE
614695433 [X|fiix  [&5r S5E AR 125100 | Lpi% s 169| 244.69|B:% ENEE] TP
221196118  |Jullic  |&PF 5B 125100 | T3 205| 293.94|Hk% AE 4 H il AVERE
230693031 |[HWE  [&F SRR 125100 | Lpi% s 182| 257.67|B:% ERANEE ] TP
230297424 | E kK L0 5E AR 125100 | TR EE 188 2735 4 H il APEE
310597770 [Bidl Sut SR 125100 [T s 177] 253.14[H% JE4 H il AIEE
460393703  |Brihdk |G S BB 125100 | TR 187 275.13[Ht% AE 24 H il AVERE
311194350 |BilEfH  [&£5r S5E Y 125100 [TriE#H 208| 297.71|W:% k4= H il ANV
310694801 |™% ZEt 5 e B 125100 | T/ 175 251.33|ifk% B4 H il AVFE
510599243 |EF S0 5E AR 125100 [T s 187| 260.86|F-% EENEE ] T
350496450 | i a5 AR 125100 | LHEH 181| 251.74[Hc% EENEE IVEE
440190245 | MUKFE |25 SEHE AR 125100 | L3 170] 245.14[H% JE4 H il AFE
440192750 | XS{R K 5E MR 125100 | LR HE 172| 257.48[HcH JE4x H il APFESE
440193407 | EAIE &G 5EHEER 125100 [T 179 253.87|H% EENEET RS
440194493 |Flng  |AFH5EIYIR 125100 | TR 174 252| % A4 H il AVEE
440196328 |PR/hE |G SR 125100 | Tps 2 190] 266.93[% JE4 H il R
460394402 | #k N £ 125100 | TRi‘E 2L 180| 270.69(Ht% k4= H il ArE
460394502 |k Zor SE AR 125100 | L5 e 202| 286.46|H% IE 4 H i) APERE
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375196478  |Mpikai  |4br SE AR 125100 | 171 243.01[0*% EEZEET] T
440192270 |E4 2ot 5 AR 125100 |Tps& 173| 263.16|H*% 4 H AVEE
440192273 |TizEHE &y 5E R 125100 | Lps%FE 189 259k JE4 H il VP SE
440187735 |[H/ &5 HEE AR 125100 | T p5%s 177| 254.59|kE% E4 H ANVEE
440188667 [xICH  |&FFHEHSR 125100 | 196| 272.15|8:% 4 H i AVEE
440189407 |FEZ%E 207 5 A 125100 [T i 176] 259.98|Ht* E4 H il AVEE
440189714 | 20t 5 AR 125100 | 194| 27158k 4 H i AVEE
440190253  [FAEPHNN  [&0% 5 E 2R 125100 | T p5%s 173| 259.62|HE% E4 H ANVEE
440190644  [x1)47 20t 5 AR 125100 | 173| 253.41|8:% 4 H i AVEE
440191261 [H—F  [&5F5EHE R 125100 | T p5%s 180| 265.01|H:% E4 H ANVEE
440191558 [ZEe | &Gr 5 E 125100 | 174| 258.53|H:% 4 H i AVEE
440191727 |f#ly (&5 5N 125100 | Tps% s 184| 262.75|W% JE4 H il AVEE
440192057 |Z=% 20t 5 AR 125100 | T it 181| 259.34|H:% 4 H AVEE
440192223  |4hEx 207 5 2B 125100 | Tps% s 178| 248.74|W% JE4 H il AVEE
440192284 |BEEE |&FF5E SR 125100 | T it 185| 265.74|H:% 4 H AVEE
440192488  [B{ETE  [&F 5 125100 |Tri& B 178| 251.34[Hc*% JE4 H AVEE
440192501 |l |25 5 HEARE 125100 | L 189 278.53[HE% EEZNEET] R
440192580  |BRitise  |&Ur SR AER 125100 [T 187| 260.77|8:% e H il ANVFE
440192583 |[# & |&FF5EHE SR 125100 | L ps%& B 181| 261.14|H:% 4 H ANVEE
440192622 |H s |25 5E AR 125100 | T3 180[ 263.78[Ht% AE 4 H il AVERE
440192635  |AEHTHE |25 SR HESAR 125100 [T s 192| 265.36[H % JE4 H il AIEE
440192657 |Z=#i 207 5 2 125100 |TrieEs 177| 249.74|8c% e H i AVEE
440192813 |F3IH 20t 5 AR 125100 |Triss 185| 261.51|H:% 4 H i AVEE
440192817 1R N F  |&Pr5EEER 125100 |TrieEs 170| 258.15|Hc% e H i AVEE
440192917  |In54E [&5r SR 125100 | Lpi% s 172 248.28[0#% A4 H i) AVEE
440192930  [*R¥% ZEt 5 e L 125100 | T/ 187| 267.341k% B4 H il AVFE
440192978  |ff&Hfy  |ZGr 5B Be 125100 [T s 177] 251.59[H% JE4 H il AIEE
440193467 | EWME |25 5EE K 125100 | LrigEH 175| 254.57[H% A4 H il APEE
440195139 [k 2t 5 AR 125100 [T 181| 263.53|HE% e H i AV
460389673 |2 fEAT |AF5EH SR 125100 | L 182| 265.93|K:% E4 H i AVEE
441193918 |E4} |4 S5EHSER 125100 [T 176| 262.82|H:% 4 H i AVEE
440191918 |[BtitE |25 5N 125100 | L 193| 268.34|H:% E4 H i AVEE
440198776 |EEWM |4 S5E %R 125100 | L p5/ s 183 258.63[HE#% A4 H i) AVEE
440194867 [KkFHEE  |&Fr5E ISR 125100 | L 175 248.86|F:#% E4x H i AVEE
440197638 |7kt 2t 5E AR 125100 |TriEH 179| 252.34|H:% e H AVEE
440197716 |[F=E#E |&F5EH%R 125100 |TLrieEs 175| 263.93|K:% 4 H i ANVEE
440189264  [xuk 2t 5E AR 125100 |TriEH 166| 241.67|8:% e H AVEE
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440190122 ik |4t SE YR 125100 | 166 248.67[H*% EEZEET] T
440191153  |Misli |4 B 5 PR 125100 | LriEH 170| 252.28[H% JE4 H il APESE
440192513 | Fdayh |4 HE R 125100 | LriEH 194 274.51[H% 454 H il APEE
440192812 |WER |25 5EH AR 125100 [T 174 242.67[8% JE4 H ] AVEE
440192931  |#H34 Zvt 5EE 125100 | L 193] 266.47[H% EEEET] T
440192963 |RMRAL AT HE P 125100 [T 186 262[Hk% JE4 H ] AVEE
440193381 [R4kFH  [&pF 5 125100 |[Tpi%#E 204| 283.02[E:% EENEE] VT
440193623 |BE K |ZATHE N 125100 [T 170[ 245.53[H% JE4 H ] AVEE
440193793 |#HXUE AT HE Y 125100 | L 167 253[ B JEZ 1 T
440193976 |55~ |AUTHE AR 125100 [T 183 2581k % JE4 H ] AVEE
440194121 |tk (@B SEHYE 125100 | L 178 267.49[0*% EEEET] T
440194508 | F#RIX |G HE R 125100 | T g s 217 296.36|l%% JE 4 H il AVEE
440195231  |REABH &5 5E Yk 125100 | L 177| 258.32|Hc% JE4 H il AVPE
440195717 5K/ |40 S BB 125100 | TR H 167 25116 % JE4 H Al AEE
440195833 |fi5el | Zeir 5 I he 125100 | T 167 247.13[Bc%  [JE&HH] AV
440196122 | KV BB HE R 125100 | T g s 185 26616 % JE 4 H il AVEE
440196210 | +HR 25 5EHER 125100 | L 189 268.47[H3% EE R T
440196358  |Miki®  |&U 5EH K 125100 | i+ 176] 254.99[H% 44 H il APEE
440196557 | ¥ My |25 5 HISARE 125100 [T riE s 173| 243.67|0% EEENEED AVESE
440196809  [{HH] 2UF 5E 125100 | THEH 180| 254.94[B% A4 H il APEE
440196819 [l 2% 5 A 125100 | Lpsi s 171| 253.63|E:% ERANEE ] TP
440197614 | B AT HE I 125100 | THEH 191] 267.74[H% 454 H i VESE
440197704  [#/0NJ5  |ADFHE P 125100 | TR HE 170] 253.03[Hk%  [HEAHHI AVEE
440197780 |fEvitx 2B HEHIBE 125100 | T/ 174| 255.27|Wt% JE 4 H il AEE
440198030 |witemN |4 P AR 125100 | i st 169 256|B% JE4 H il APFE
440198422 |#REE  |&FHE RN 125100 | T 181| 265.53|B% AE4 H il ANVEIE
440198471 | ERiE & HE AR 125100 | L 180 271 % JE4 H il APEE
440198763 [ ZEt 5 e B 125100 | T/ 170 263.751fk% B4 H il AVFE
421296255 |FEfIe |25 SE AR 125100 [ L3 183| 257.23[Ht% JE4 H il AIFE
421296579  |XIEJ7 |4G BE SR 125100 | LHEH 182 264|1K% A4 H il AVEE
421295950 | AT HE AR 125100 | L3 190] 269.35[Ht% JE4 H il AFE
440193186 |5k & [&PFEE AR 125100 | L5 sE 173| 257.51|B% JE4 H il ANPESE
422295673 |mRFe ARG HEHAER 125100 | L3 210] 282.66|Hk% JE4 H il AIFE
422295597  [sKigE  |LUFSE MR 125100 [T 179 250.67|Hc% EEEN =K AVEE
422295451 |ZRIL¥  |BTFHEH YN 125100 [ Tpiiss 212]  292.6]% JE4 H il AVEE
422294814 |73 N £ 125100 | TRi‘E 2L 215| 290.96|H%% k4= H il ArE
422295702 | %4 Sut HE AR 125100 | TR 212| 297.34]H% JE4 H il AFE
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422295744  |mk |&FFSEHR 125100 |TriE# 175| 251.34|B:% 4 H i AVEE
422294916 |Biarie |ABSEHER 125100 |Tps& 184| 266.14|H% 4 H AVEE
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